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(Carbonate salt) (Black)
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(C)+ (D)
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Select the correct statements -
(A) Compound (A) is basic copper carbonate
(B) Compound (B) CuO
(C) Compound (C) is Cu,0
(D) Compound (D) is paramagnetic in naturue
When Ag,CO, is heated then product will be -
(A) Ag,0 @) Ag ©.0, D) CO,

When compound A (orange red) is heated then green colour oxide of (B) is formed and inert gas (C)

is formed then select the correct statements :

(A) Compound (A) is (NH,), Cr,0O,

(B) Compound (B) is used in fire works

(C) Gas Cis N,

(D) Heating effect of (A) is a type of intra molecular redox reaction

Which of the following hydrated salts will not become anhydrous on heating :

(A) MgCl, 6H,0 _~(B) FeCl,.6H,0 ~(C) AICI,.6H,0 (D) CoCl,.6H,0

&8/ Which of the following metal nitrate produce NO on heating
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(AyHg(NO,), (B) RbNO, (C) Pb(NO,), (D) Cu(NO,),

Which of the following oxides turns yellow on heating and becomes white on cooling :

(&) ZnO B) K,0 (C) PbO (D) Ag,0
Paragraph for Q. No. 20 to Q. No. 21
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=2 a(B) + O F O,

(Orange solid)  (yellow) (green) (Paramagnctlc)

Compound (A) is :
(8 K,Cr,0, (B) K,CrO, (©) Cr,0, D) O,

Compound (C) is also obtained on heating of :

(A) (NH,),Cr,0, (B) NH,CIO, (C) NH,NO, (D) None of these
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26. When calamine is heated then a product (A) is formed then find the total number of following options

L are correct for compound (A) - , not 5
znb —= X/

«) Compound (A) is white in cold conditions ShiR ol o ,l Yellow

L R Compound (A) is yellow in hot conditions
© i) Compound (A) is called phillosopher's wool
(iv) Compound (A) when combined with CoO, then compound (B) is formed & colour of new

i compound (B) is green

27 NaNO, —*< 5 (A) + (B)
‘?‘& NONo, 30y
(A) /== () + (D) + (B)
NQ,6 Ny oy
Find the number of correct statements

(v) Compound (B) is called Rinmann's green

—1) Compound (B) is paramagnetic in nature

« (2) Compound (B) when undergoes dimerisation then dimer product is diamagnetic in nature
37 Bond order of compound (B) is two
“yDis N, gas
(5) Compound B and E are same gas

A Mnp DL 0;
(A)——(B) + (O)+ (D)
28. (dark purple (green)  (black)
1 almost black)

Find the number of correct statements
“ (I Compound B is K,MnO,
2y Compound C is MnO,
3) Compound D is O,
() Compound B is paramagnetic in nature

%(5) Compound D has two unpaired electron in bonding molecular orbital
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29. Total number of compounds undergoes dispropornation redox reaction on heating

t‘ MnO,, HOCl H PO3, HI\102, CrO,, HCIO, |

30. On strong heatmg of H, PO and H;BO,, sum of oxidation number of P& B in the final product
©  obtained s : Boo, #H,0
5




